2014-02-01 Vinterbrunnsspelen 2014, deltivling 2D

12 bord, 24 par. Antal brickor: 24. Medel: 264,0. Medel+/=/- ger minst 60 / exakt 50 / hogst 40 %.
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409 412 44 V -3 #10 150 22,0 0,0 | 401 476 4v N +2 %6 680 22,0 0,0 | 470 409 2N O +1 v2 -150 22,0 0,0 | 472407 4v V -1 aD 100 22,0 0,0
401 476 3v N = «E 140 20,0 2,0 | 480478 3N S +2 a4 660 20,0 2,0 | 403476 IN V +4 D <210 19,0 3,0 | 473 406 2¢ V +1 aD -110 20,0 2,0
469 408 3N O -1 v3 50 18,0 4,0 | 402475 4v N +1 49 650 140 8,0 | 474405 2N V 43 D 210 19,0 3,0 | 402477 2v O +2 46 -170 14,0 8,0
402 475 3vx N -1 «E -100 150 7,0 | 409 412 44 N +1 &2 650 140 80 | 410469 3N O = +4 -600 14,0 8,0 | 403 476 2v V +2 &3 -170 140 8,0
473 404 Svx N -1 «E -100 15,0 7,0 | 471 406 4v N +1 ¢4 650 140 8,0 | 412411 3N V = 5 -600 14,0 8,0 | 410469 3w O +1 aE -170 14,0 8,0
480478 2N O = v3 -120 12,0 10,0 | 473 404 4v N +1 49 650 140 8,0 | 472407 3N V = «D -600 14,0 8,0 | 475404 3v O+l aE -170 140 8,0
472 405 3¢ V +3 oE -170 10,0 12,0 | 474 403 4v N +1 49 650 140 8,0 | 473406 3N V +1 «D 630 9,0 13,0 | 480479 3w O +1 aE -170 14,0 8,0
411 410 24 V +3 ¢10 <200 8,0 14,0 | 407 470 4v S = 2 620 7,0 150 | 475404 3N V +1 #3 -630 9,0 13,0 | 408 471 4v O = aE -620 5,0 17,0
407 470 3N O = vD -400 5,0 17,0 | 469 408 4v N = 49 620 7,0 15,0 | 402477 3N V +2 «D 660 3,0190 | 412411 4v O = aE -620 5,0 17,0
474 403 5S¢ O = vD -400 5,017,0 | 477479 3N S = +2 600 4,0 18,0 | 408 471 3N V +2 3 -660 3,0 19,0 | 474405 4v V = aD -620 5,0 17,0
471 406 44 V = ¢10 -420 1,0 21,0 | 411 410 24 N +3 ¢3 200 2,0 20,0 | 478 401 3N V +2 «D 660 3,019,0 | 478 401 4v O = aE -620 5,0 17,0
477 479 44 V = 10 -420 1,0 21,0 | 472405 2& N = a9 90 0,0 22,0 | 480479 3N V +2 #5 -660 3,0 19,0 | 470 409 4v O +1 aE -650 0,0 22,0
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411470 3N S = «E 600 22,0 0,0 | 403478 44 V -1 v10 100 150 7,0 | 474 476 %3 100 20,0 2,0 | 412403 3¢ O -3 w8 150 22,0 0,0
403 478 4wx V -2 4E 300 20,0 2,0 | 404 477 44 V -1 #4100 150 7,0 | 477 473 5 %8 100 20,0 2,0 | 469402 lv O -1 aE 50 18,0 4,0
404 477 4% S +1 «E 150 18,0 4,0 | 469 412 34 V -1 «10 100 150 7,0 | 478 472 %3 100 20,0 2,0 | 470 401 3v V -1 aE 50 18,0 40
409 472 34 N = vE 140 130 9,0 | 471 410 44 V -1 #4100 150 7,0 | 480 475 %8 -110 16,0 6,0 | 474476 3N V -1 «7 50 18,0 4,0
473 408 34 N = vE 140 130 9,0 | 473 408 54 V -1 &K 100 150 7,0 | 469 402 v9 -130 14,0 8,0 | 410405 2¢ N -1 a9 -50 14,0 8,0
476 405 24 N +1 vE 140 130 9,0 | 474407 44 V -1 &K 100 150 7,0 | 410 405 *6 -600 12,0 10,0 | 478 472 1v V = aE -80 11,0 11,0
479 402 34 N = vE 140 13,0 9,0 | 475406 44 V -1 &K 100 150 7,0 | 408 407 v4 -630 10,0 12,0 | 480475 1v V = aE -80 11,0 11,0
471 410 4v V -2 4E 100 8,0 14,0 | 479 402 44 O -1 v2 100 150 7,0 | 404 411 v4 -660 4,0 18,0 | 404 411 2¢ S -2 &7 -100 8,0 14,0
469 412 3v V -1 oE 50 4,0 18,0 | 480401 5% S -3 aE -150 6,0 16,0 | 406 409 V+2 &7 -660 4,0 18,0 | 477473 IN O +1 a6 -120 6,0 16,0
474 407 4v V -1 4K 50 4,0 18,0 | 476 405 3s V +1 &K 2170 4,0 18,0 | 412403 3N O +2 a7 -660 4,0 18,0 | 406 409 2N V +1 ¢4 -150 3,0 19,0
480 401 3v V -1 &E 50 4,018,0 | 411 470 5% S -4 aE -200 2,0 20,0 | 470 401 V +2 v4 -660 4,0 18,0 | 408 407 3¢ N -3 vK -150 3,0 19,0
475406 3v V +1 oE -170 0,0 22,0 | 409 472 44 V = 10 -620 0,0 22,0 | 471 479 V42 &7 -660 4,0 18,0 | 471 479 IN N -4 a4 -200 0,0 22,0
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411406 3N N +1 «K 430 22,0 0,0 | 405412 5S¢ N+1 aE 620 170 50 | 476478 2N S = «E 120 22,0 0,0 | 401 474 Sv S +1 a7 680 20,0 2,0
471402 4v N = &K 420 20,0 2,0 | 407 410 5+ N +1 aK 620 17,0 50 | 471 404 4v O -2 ¢K 100 20,0 2,0 | 408 411 Sv S +1 a7 680 20,0 2,0
475 477 3v N +2 &K 200 18,0 40 | 411406 5S¢ S +1 «E 620 170 50 | 401 474 4v O -1 +K 50 18,0 40 | 476 478 4v S +2 a7 680 20,0 2,0
407 410 3v N +1 «K 170 130 9,0 | 472401 5¢ N +1 aE 620 170 50 | 412407 2¢ V = v6 -90 16,0 6,0 | 406 469 4v S +1 ¢K 650 10,0 12,0
409 408 2v N +2 49 170 13,0 9,0 | 475477 5S¢ N+1 aE 620 170 50 | 472403 2¢ V +1 v7 -110 12,0 10,0 | 410 409 4v S +1 akn 650 10,0 12,0
470 403 3v N +1 «K 170 130 9,0 | 478 474 5¢ N +1 aK 620 17,0 50 | 473402 2¢ O+l v7 -110 12,0 10,0 | 470 405 4v S +1 47 650 10,0 12,0
479 473 3v N +1 «K 170 13,0 9,0 | 409 408 4¢ N +2 aE 170 7,0 150 | 480 477 2¢ V +1 %7 -110 12,0 10,0 | 471 404 4v S +1 akn 650 10,0 12,0
405412 4¢ S +1 4D 150 8,0 14,0 | 469 404 2¢ N +4 v8 170 7,0 15,0 | 408 411 IN V +1 a4 -120 8,0 14,0 | 472403 4v S +1 ¢K 650 10,0 12,0
469 404 2v N +1 «K 140 6,0 16,0 | 470 403 4¢ N +2 4E 170 7,0 150 | 406 469 2v O +1 +K -140 4,0 18,0 | 473402 4v S +1 ¢K 650 10,0 12,0
472401 3¢ S = aD 110 4,0 18,0 | 471 402 3¢ N +3 aE 170 7,0 150 | 470 405 2v O +1 «D -140 4,0 18,0 | 479 475 4v S +1 akn 650 10,0 12,0
478 474 3+ S -1 aD -50  2,020,0 | 479473 34 V -1 &K 100 1,0 21,0 | 479475 2v O +1 +K -140 4,0 18,0 | 480477 3v S +3 ¢«K 230 2,0 20,0
480 476 5¢ S -2 &7 -100 0,0 22,0 | 480 476 34 V -1 vE 100 1,0 21,0 | 410409 2N O +3 49 210 0,022,0 | 412407 44 O -3 &E 150 0,0 22,0
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2014-02-01 Vinterbrunnsspelen 2014, deltivling 2D

12 bord, 24 par. Antal brickor: 24. Medel: 264,0. Medel+/=/- ger minst 60 / exakt 50 / hogst 40 %.
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403406 3N N = &K 600 22,0 0,0 | 403406 4v S +1 %10 450 17,0 50 | 404 407 3N V -4 «D 200 22,0 0,0 | 412478 IN O -3 4 300 22,0 0,0
471473 2v O -2 «E 200 20,0 2,0 | 407 402 4v S +1 10 450 170 50 | 406405 IN V -2 «D 100 16,0 6,0 | 402409 2¢ N +2 aE 170 17,0 50
401 408 3¢ S +2 vkn 150 17,0 50 | 409 479 4v S +1 10 450 170 50 | 411479 IN V -2 «2 100 16,0 6,0 | 408 403 3v N +1 45 170 17,0 50
405 404 4+ S +1 vkn 150 170 50 | 410478 4v S +1 #8 450 170 50 | 412478 IN V -2 «6 100 16,0 6,0 | 410401 2¢ N +2 aK 170 17,0 50
407 402 3¢ N +1 vkn 130 10,0 12,0 | 411 477 4v N +1 &5 450 17,0 50 | 469477 24 O -2 5 100 16,0 6,0 | 472474 3v N +1 aK 170 17,0 50
409 479 3¢ S +1 ¢6 130 10,0 12,0 | 475469 4v S +1 «10 450 170 50 | 476 470 IN V -2 «6 100 16,0 6,0 | 469 477 2¢v N +1 aE 140 11,0 11,0
410478 2¢ S +2 4E 130 10,0 12,0 | 480472 3N S +1 «D 430 10,0 12,0 | 410 401 2¢ N = vK 90 10,0 12,0 | 475471 2¢v N +1 aE 140 11,0 11,0
474 470 2¢ S +2 46 130 10,0 12,0 | 405404 4v S = al0 420 6,0 16,0 | 402409 3v O -1 aE 50 8,0 14,0 | 406 405 3v N -1 6 -50 7,0 15,0
480 472 3¢ S +1 vkn 130 10,0 12,0 | 412476 4v S = 49 420 6,0 16,0 | 475471 IN V = #2 -90 6,0 16,0 | 476 470 IN S -1 &2 -50 7,0 15,0
475469 3¢ S = &8 110 40180 | 474470 49 S = a9 420 6,0 16,0 | 472474 34 O = aE -110 3,0 19,0 | 404 407 2N N -2 &2 -100 4,0 18,0
411477 3N N -1 v9 -100 2,020,0 | 471473 3N S = v10 400 2,020,0 | 480 473 24 O +1 aE -1100 3,019,0 | 411479 24 O = v3 -110 2,0 20,0
412476 3N N -3 7 =300 0,0 22,0 | 401 408 4v S -1 v10 -50 0,0 22,0 | 408 403 3¢ N -3 a2 =300 0,0 22,0 | 480473 4v N -3 aE -150 0,0 22,0
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409 404 4v N +2 «D 480 22,0 0,0 | 403 410 3N S +4 «kn 720 19,0 3,0 | 480 469 3Nx N +2 &«kn 750 22,0 0,0 | 404 478 2¢ O -1 aD 100 219 0.1
403 410 4v N +1 ¢2 450 12,0 10,0 | 407 406 3N S +4 a2 720 19,0 3,0 | 404 478 5& N +1 ¢6 420 20,0 2,0 | 406476 2¢ O+l D -110 132 88
405 408 4v S +1 «kn 450 12,0 10,0 | 473 475 3N N +4 «2 720 19,0 3,0 | 406 476 3N S = «K 400 18,0 4,0 | 407 475 24 O +1 #3 -110 132 88
407 406 4v S +1 «D 450 12,0 10,0 | 476 472 3N S +4 «kn 720 19,0 3,0 | 407 475 3v N +2 «10 200 160 6,0 | 471 411 2a O+l 5 -110 132 88
411402 4v S +1 ¢4 450 12,0 10,0 | 405 408 3N S +3 &«kn 690 12,0 10,0 | 408 474 2¢ N +2 «10 170 11,0 11,0 | 472410 2% O +1 v7 -110 132 88
470 478 4v S +1 4K 450 12,0 10,0 | 470 478 3N S +3 v10 690 12,0 10,0 | 471 411 3v N +1 «10 170 11,0 11,0 | 477 405 2& O +1 &K -110 132 88
473 475 4v N +1 a5 450 12,0 10,0 | 477 471 3N S +3 «3 690 12,0 10,0 | 477 405 3& N +3 5 170 11,0 11,0 | 479 403 24 O +1 v5 -110 132 88
476 472 4v N +1 ¢K 450 12,0 10,0 | 412 401 3N S +2 v2 660 7,0 150 | 479403 3v N +1 4D 170 11,0 11,0 | 480 469 2& O +1 v5 -110 132 88
477 471 4v S +1 aK 450 12,0 10,0 | 469 479 3N S +2 v2 660 7,0 150 | 402401 3% N +2 2 150 6,0 16,0 | 408 474 34 O +1 v5 -130 34 18,6
480 474 4v S +1 ¢8 450 12,0 10,0 | 411 402 3N S = «kn 600 4,0 18,0 | 409 473 3N S -1 «E S50 2,020,0 | 412470 24 O +2 2 -130 3,4 18,6
412401 3N S +1 ¢4 430 2,0 20,0 | 480474 34 S +2 &9 200 2,020,0 | 412470 2v N -1 «10 -50  2,020,0 | 402401 3N V = v2 -600 0,1 21,9
469 479 2N S +2 ¢5 180 0,0 22,0 | 409404 3¢ N+3 &5 170 0,0 22,0 | 472410 3v N -1 aD -50 2,0 20,0 | 409 473 M+/M- 132 88
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469 471 24 S = &2 110 22,0 0,0 | 409 475 3¢ V -2 v7 200 22,0 0,0 | 402405 44 N+2 &D 680 18,0 4,0 | 406 401 44 S = &E 420 22,0 0,0
403402 3v V -2 46 100 18,0 4,0 | 410474 34 N+1 %10 170 20,0 2,0 | 404 403 44 N +2 &D 680 18,0 4,0 | 479 407 34 S +2 «E 200 20,0 2,0
407 477 4v 'V -2 410 100 18,0 4,0 | 403 402 24 N +1 &10 140 17,0 50 | 409 477 44 N +2 9 680 18,0 4,0 | 409 477 2¢ N +2 «E 170 170 50
408 476 4v 'V -2 410 100 18,0 4,0 | 407 477 34 N = «8 140 170 50 | 470472 44 N +2 &D 680 180 40 | 411475 34 S +1 «E 170 17,0 50
401 404 3% V -1 3 50 130 9,0 | 480470 2¢ S = #5 110 140 8,0 | 479 407 44 S +2 4K 680 18,0 40 | 402405 2¢v N+1 «E 140 8,0 14,0
480 470 4w V-1 3 50 13,0 9,0 | 401 404 34 N -1 3 -50 12,0 10,0 | 406 401 44 N +1 vE 650 7,0 15,0 | 404403 34 S = 7 140 8,0 14,0
409 475 2v V = a6 -110 9,0 13,0 | 408 476 44 N -2 +4 -100 9,0 13,0 | 408 478 44 N +1 vE 650 7,0 150 | 408 478 24 S +1 «E 140 8,0 14,0
472412 29 V = &5 -110 9,0 13,0 | 478 406 2N S -2 +9 -100 9,0 13,0 | 410 476 44 N +1 «D 650 7,0 150 | 410476 2v N +1 ¢E 140 8,0 14,0
473411 2N O = 46 -120 6,0 16,0 | 469 471 2¢ V +1 v7 -110 4,0 18,0 | 411475 44 N +1 vE 650 7,0 150 | 470472 3v N = «E 140 8,0 14,0
405479 3v V = a6 -140 2,020,0 | 472412 3¢ V = 7 -110 4,0 18,0 | 473 469 44 N +1 vE 650 7,0 150 | 473469 1a S +2 «E 140 8,0 14,0
410 474 2% V +1 410 -140 2,0 20,0 | 473 411 3¢ V = w7 -110 4,0 18,0 | 474 412 44 N +1 v4 650 7,0 150 | 474 412 24 S +1 «E 140 8,0 14,0
478 406 3v V = 3 2140 2,0 20,0 | 405479 2¢ O +2 a4 -130 0,0 22,0 | 480 471 34 N+l &«D 170 0,022,0 | 480471 2¢ O = aE -90 0,0 22,0
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2014-02-01 Vinterbrunnsspelen 2014, deltivling 2D

12 bord, 24 par. Antal brickor: 24. Medel: 264,0. Medel+/=/- ger minst 60 / exakt 50 / hogst 40 %.
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Namn

Arne Olsson - Margareta Olsson

Ruth Gustavsson - Monica Olsson
Ann-Kristin Idorn - Mats Idorn

Sven Gerdtsson - Agneta Gerdtsson
Maj-Louise Dahlberg - Arne Dahlberg

Lotta Lundberg - Anette Wald Gérdenfors

Marianne Strandberg - Ulla-Maja Johannesson

Gunilla André - Birgit Persson
Annika Wingvist - Weiny Silander
Gunvor Thornberg - Olle Thornberg

Annika Helmfrid - Eric Brage

Irma Stark - Curt Stark

Hékan Myrhagen - Ritva Myrhagen
Barbro Lindskog - Gunvor Arrhén
Jan-Olof Siby - Markku Harald

Elly Scholten - Lena Jeppsson

Ingrid Vestergard - Laila Hakansson
Sven-Uno Persson - Ing-Marie Persson
Laila Stridh - Louise Ohrwall
Marianne Wahlberg - Eva Lundgren

Elsy Jacobsson - Kajsa Sjo

Marianne Wadaszi - Curt von Schlanbusch
Gunnar Gerdtsson - Margareta Gerdtsson
Bertil Palm - Gunilla Palm
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Hoors BK
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IFK Karlskrona - Bridgeklubben Karlskrona
Ystads BS

BK Tre Sang, Helsingborg

Filbyter Bridge
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BK Sekvens, S-torp
Lunds BK

Boris BA

Staffanstorps BK - Pri-Bri 1936
Solvesborgs BK

Malmo BK

BK Opalen

Sillskapet, Ronneby

Lunds BK - Ryds BK
Bridgeklubben Karlskrona
Malmo BK

Staffanstorps BK



